ANUSHKA ACADEMY

SSC MOCK TEST - 142

Part-1:
Hkkx&x : Bkek!;

General Intelligence and Reasoning

cfvserk ,o0 rd"kDr

Directions (1 - 3) : In each of the following
questions, select the related letter/word/
number from the given alternatives.

fun’k (1 & 3) % futu iR;d 1"u e fn, x, fodYike |
IEcfl/r v{kj@ iCn@I [ ;k dk pfu,A

1. Family : Home :: Colleagues : ?
ifjolj b %  lgden b \
(A) Work/dk;
(C) Building/bekjr

(B) Office/dk;ty;
(D) Friends/niLr

2. WUS:QOM:: ?:FDB
(A) LIG (B) MJH
(C) LJH (D) LKH
3. 0.0625:0.25::0.4096 : ?
(A) 6.6 (B) 6.4
(C) 0.66 (D) 0.64

Directions (4 - 6) : Find the odd word/letters/
number pair/number from the given
alternatives.
fun'k (4 & 6)4 In; x, fodYike I fo'ke "Kn@v{joI[:k
Jle@I[;k dk pfu,A
4. (A) JMP (B) FIL
(C) RUW (D) XAD
5. (A) Internet Banking/bVjuV cfo(x
(B) Mobile Banking/elclby cfolx
(C) Automated Teller Machine /Lopkfyr_\yj
e"lu
(D) Personal Banking/0;fDrxr cfofx
6. (A) 85 (B) 68
(C) 24 (D)wl36
7. Arrange the following words’as, per order in
the d1ct10nary

fukufyf[ir "Ilndkk e fag'x, Pe d vullj
0; ofLFr de

1. Pragmatic 2. Protect

3. Pastel 4.” Postal

5. Pebble

(A) 4,3,5,2,1 B) 3,5,4,1,2

€ 3,4,5,.1,2 D) 4,3,5,1,2

8. A's birthday/s on Friday 30th June. Find
the day of'the week on which B's birthday
in the same year if B was born 15th

November ?

A dk tlefnu “lojo Q kj 3
15 uocj dk gwvk Fi] rk
e fdl fnu gixi\

(A) Tuesday/exyolj (B) Wednesday/célolj
(C) Monday/ lleolj (D) Sunday/jfoolj

9. The weight of 4 boxes are 10, 7, 5 and 9
kilograms. Which of the following cannot be

otu dk gt ;fn B dk tle
0% B dk tlefnu lrig

the total weight of any combination of these
boxes and in a combination,a box can be
used only once?

plj Indkdk otu 10, 7, 5 i) Ndyixie gh fuEufyf[ir
e I Indk o] fd Ih Hrsl;eu=b o)y otu ugh gk 1drk
vij ,d L;ktue ,d Indh ,d gh clj 1;kx e yk;k
t Idrk g\
(A) 31 kgsTTexi- (B) 23 kgs/fdxi-
(C) 214%gs/fdxk (D) 26 kgs/fdxk

10. From the given alternative, select the word

which canmet be formed using the letters of
the given words.

fuEufyf[fr foin e 1] og "itn pfu, thfn, x, "iCnk
d vk ;ix djd ugh cuk;k th Idri gh
RECLINES

(A) SINCE (B) CLICK

(C) LINES (D) RELIC

Directions (11-13) : In the following questions,
a series is given with one terms missing.
Choose the correct alternative from the given
ones that will complete the series:

fun®k (11-13) ¥ fukufyf[kr 1*uk €] ,d vude fn;k x;k
g ftle ,d in ylr g fn, x, fodYik e 1 og Igh
fodYi pfu, t vude dk ijk dj

T U (e A LU
. 3’_ ) 3 ) 3 )
= B) -5
™ = ®) -
-16
€ —5~ (D) -6
12. 6,9, 15,24,39,?
(A) 60 B) 63
(C) 66 (D) 62
13. O,M,I,?
(A) F (B) E
(€) D (D) G

14. In a code language, if REGAINS is coded as
QDFZHMR, then the word PERIODS will be
coded as-

fdlh dV Hi'lk €] REGAINS dk QDFZHMR | divr

djr g rt PERIODS *iin dk d1 dfvr fd;k t,xi\
(A) ODQNHCR (B) ODDQHCR
(C) ODQHNCR (D) ODQHNRC
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ANUSHKA ACADEMY

15.

16.

17.

(¥

If 4+’ means ‘x’, > means ‘+’, X’ means “+
and “’means “ thenﬁnd45>< S5+2- 20 ?
“fn <+ ok VR, dl VR, o dl VR VA

"d VH—g] rk45x5+2- 20 ? Kir dift,\
(A) 40 (B) 38
(C) 34 (D) 54

If 5#6 =121 and 10 # 8 = 324, then find
the value of 23 # 14 = ?

;5 #6 =121Vl 10 # 8 = 324 g] rk
23 # 14 =2 dk elu Kir dift,\

(A) 1369 (B) 1349

(C) 1331 (D) 725

Which of the following cube in the answer
figure cannot be made based on the
unfolded cube in the question figure?

futufyf[ir mlj violfr e 1 di&lk éu fn, x, i'u

violfr e 1 [ky %u I cuk;k ugh & 1dri\
ofs #13]
B P
< e

Direction (18) : In question numbers 18, select
the missing number from the given responses,

fun*k(18): 1°u I[;k 18 €] fn, x, fodYik e Lfoyir

I[;k pfu,A
18. Mos[> [48
87 76|11
113 |78 |35
(A) 47 (B)“57
(C) 55 (D53
19. A and B are the hrothers! A is the father of

D. C is the only,somief Bfand is married to
E. How is E relatedyto D?

AVij B Hib ghasmaliefiri gt C, B o ,de i g

21.

22!

23.

A piece of paper is folded and cut. From the
figures given, indicate how it will appear
when opened

;fn fdIh dixt dk n"l; fp vullj eiMdj divk ]
rk [lyu ij og fdl mlkj wviolfes ek kb nxi\

(A) (B)
P ]
O Y (D) 7
D/\q N/

Which one of the following diagram
represents the correct relationship among
Professor, Male and Female.

futufyf[ir e 1 diu&lh viofr iki
efgyk, ol cip Icék dk n*lkrh g \

(A) (B)

1] 0
©) |:| (D) lil

Which answer figure will complete the

ion] i:

pattern in the following question figure?

diug I mkjevidfr i*ugwvidfr d ifrzi diijk djxi
Question figure/i"u vko(frk

rfk og E 1 foolfgragh E, D I fd 1 idlj Icfér g\ >
(A) Sistéryegu (B) Sister-in-law/HikHih 7N
(C) Mothex/ekrk (D) Aunty/phph VAR
20. In the given figure, find the number of
triangles?
nh xb violfk e] f=Hkek dh B[ ;k Kkr dift,\ (A) B) /
(C) \ (D)
(A) 40 (B) 35 \
(C) 36 (D) 37
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ANUSHKA ACADEMY

24.

25.

Mirror is placed on the line MN, then which
of the answer figures is the right image'»’
:fn L d ik dk MN G Ej ] b xb mlk
violfr;k e I diw&lh violfr i'u violfr dk Igh
ifrfcEc gixi\

Question figure/1"U VkO(fr 4

N
¢)

# $E

M
A) o (B) o)
e & # N&

(©) D B
Ly & s N H#
o)

A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in
the alternatives are represented by two
classes of letters as in two matrices given
below. The columns and rows of Matrix-Iare
numbered from O to 4 and that of Matrix=H
are numbered from 5 to 9. Adlettessfrom

these matrices can be represented first by
its row and next by its column. E.g., ‘F’ can
be represented by 03, 24 etc., and ‘S’ can be
represented by 56, 89 etc. Similarly, you
have to identify the set forithe word ‘ROAD’.

,d “iCn ojoy ,d [ ;& begegin’ik;k x;k g] €l
fd fodYik e 1 fdlh ,d"esn;k x;k oA fodYik e fn,
X, I[;i&leg v{ijk d.nk oxk Hjk n"k, x, g] th fd
hp fn, X, nk vi0;g e"gA vi0;g&1 d LrH vij ifDr
dh I[;K0 1 4nh xb g wij vi0;g&t1dh 5 1 94 bu
viO; ok 1 ,d V{j i agy mhdh ifDr vij cin e Lrhk

I[;k }' (tldri gh mnigj.kd fy, = d 03,
24 Hik tAdrk g] s’ di 56, 89 Hik
t Idrk gA bl rjg 1] vtidk "iin ‘ROAD’ d fy

L[ ;¢ Beg dk igpkuuk gA

Matrix-I/VK);g-I  Matrix-I1I/Vk0;g-II

0|1 (2]|3 |4 5(6(7|819
O|IL |[K|A|F|H S|Q|S|R|U|Z
1|/K|I |I |[C|D 6|S|R|O|V|T
2|J |E|E|E|F 7/0|U|V|S|Z
3/M|I |AJE|K 8|/ V|Y|T|Y|S
4/ M|B|K|C|G 9/]Y|Z|O|U |V

(A) 24, 14, 67, 76
(C) 66, 67, 02, 14

(B) 30, 22, 86, 56
(D) 13, 43, 56, 86
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Part-1I : General Awareness
Hdox&ar - Bkeld; thudkjh
26. Who has won maximum filmfare awards | 32. Near Coastal areas, temperture on land in
as a music director? day time gets reduc_ed due to____. o
,d Ixir fun'id o) =i e viidre filvei(;j ijLolj rVh; {k o) fudV o] dijéiinu o) Ie; Hfe ij rielu
fdlu tirt g\ de gt tirt g _
(A) A.R. Rahman/,Vij- jgelu (A) Land breeze/Ry=lelj
(B) Laxmikant Pyarelal/y{ehdir |;kjyty (B) Sea breegfy Lon Nglj
. . (C) Both lafid and Sea breeze/Fty rFk len
(C) Pritam/1hre Lo Nl
(D) S.D.Burman/, I-Mi-ceu Dl S ) 1‘ M ated Al i de Vicn
27. Azadirachta indica is the botanical name (D) . parsely Populate c.oasjcs/ IJ,

. . 33. Which one,of the following is considered as
of which of the following - thegdrug of last resort for human beings?
;/\mnjkprk bividl fueufyf[ir e 1 fdlclk ouLifrd e NS e o e a . vire it b
(A) Blackberry,/tleu VI'iE/ dy - i die djrk g2
(B) Banyan/CjXn (A) Penicillin/ ifuflfyu
(C) Neem/ufe (BY Tetracycline /VVkHbfDyu
(D) Cycas/ libo(l (€) Chloramphenicol/Dykjei{fudky

28. Instrument for measuring light (D) Streptomycin/LVIVkelbflu
intensity is called - 34. Which one of the following is a hereditary
idi’k dh riork dk efiu of ;& dk dgk tirk'g& disease?
(A) Lucimeter/y lhehVj futufyf[ir e 1 diu&lh ,d vuolfid cheljh g
(B) Cryometer/olk;kehVj (A) Cataract/elkfr;kfcn
(€) Cyanometer{lk;ukthj (B) Haemophilia/ghekilhfy ;k
(D) Barometer/cjleiV (C) Pellagra/iyxk
29. Periya Puranam is a work‘ons- . Uil
e A 4 (D) Osteoporosis/VHLV;kikjifl1
ik Tjue fuku ij viewfjrsd di; g”\ . 35. Which of the following reaction is the main
(A) Bengal Vaishnavismg/Cxty’ 0".l0 ij cause of energy radiated from Sun?
(B) Tamil Saivism /ey "fo/1j fuku e 1 diu&lh vHfoQ;k I; 1 fofdflr gu okyh
(C) Kashmir Saivism/d%fj "o ij dk e[; dij.k g\
(D) Post-Gupta,Saktismt/XIr jitok (A) Nuclear fission/ukftfd; fo[Mu
30. Which one of the following countries is not (B) Nuclear fusion/uifHfd; foy;
a membergy the Commonwealth of (C) Chemical reaction/jklk;fud viHfo(;k
Independent states (CIS)? ) ) ) follik VoK
fuEufyf[ire T A&k n*k Lor= jiT;k of jiveMy o (D) Diffusion reaction/fol].[ vifol;
InL; ugh g\ 36. Which one of the following pairs does not
} form part of the six systems of Indian
(A) Armenia/Vvieffu;k  (B) Belarus/cyk: | hil o
(C) Estonia/,LVku;k (D) Russia/ - | P oS oPRY” . W
31. Nitrogen fixing bacteria found in the root f_UEUfyf[kr e 1 diu& Rt igra; n'u "= dh N
nodules of leguminous plant is:- i.lify sk di Hix ugh g2
ukbVkeu fiQfDIx thok.k iQyhnkj kel dh €M e ik;k (A) Mimamsa and Vedanta/elekl vij onkr
thrk g mlg dgr g& (B) Nyaya and Vaisheshika/U;k; Vij o"if’kd
(A) Saprophytic/ertioh (B) Parasitic/ijthoh (C) Lokayata and Kapalika/yidk;r vij diifyd
(C) Symbiotic/ Igliol (D) Autotrophic/Loikh (D) Sankhya and Yoga/ I[;k Vij ;ix
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ANUSHKA ACADEMY

37.

38.

39.

40.

41.

42.

Mendel’s principles of inheritance are based
on

eMy dk vuokf*kd fl%r viZifjr g&

(A) Vegetative reproduction/ouLifr 1tuu ij
(B) Asexual reproduction/Vvyfxd 1tuu ij
(C) Sexual reproduction/;ku 1tuu ij

(D) All of the above/; IH

The operating system called UNIX is
typically used for

;fuDl whijivx fILVe Nied;r¥ dok i;kx fd;k trk g2

(A) Desktop computer/ML.AVki dEl;Vj

(B) Laptop computer/yiVki dEl;Vj

(C) Supercomputer/ij dEl;Vj

(D) Web server/oc 10j

R.N Malhotra committee is associated with

wij ,u eYgelk Bfefr Icf/r g&

(A) Sick industries/ ZX.k m]kx

(B) Tax reforms/dj 1/l

(C) Insurance sector/chek {J

(D) Banking sector/cfdx 1DVj

National Renewal Fund was constituted for

the purpose of

jvh: uotdi.k ot ok xBu fd 1 izkeu d fyFers

Xk FRN\

(A) Providing pension for I|retiring
employees/ ok fuolk depffj; kel it d
fy,

(B) Social security/ lielftdyl/lj d 1y,

(C) Rural reconstruction/xel.t i fuek.k d fy,

(D) Reconstruction and médernisation of

industries /] o 10#fUel.Vvij viefudidj.
dfy,

The National DeWwerming Day is celebrated
on which date i, India?

Hijr e ji'vh; LoPN fnoh,dc euk;k tirk g
(A) February 33/1{joji 13

(B) Februwary, 10/1)jojh 10

(C) Februamy 12/1(jojh 12

(D) October/VvDVcj 2

The Fourth Schedule to the Constitution of
India deals with :

Hijr d Tfo/tu dh piFq vulph fd Il Ic/ j[irh g2

(A) Provisions related to the administration
of trible areas/tu tr; {k d 1°lu d
Ict/r mic/

(B) Allocation of seats in the Council of
States. /foéliu ifj'tn e IiVk dk vioVu

43.

24

45.

46.

(C) The Union List, the State List and the
Concurrent List/ 1% Ipi] jiT; Iph ,0 leorh

Iph
(D) Recognized language of the Union of

India./Hijrh; 1% dh edlSrk hir HK'K,

Shunglu Committee wassappointed by the
Prime Minister to

i/uesih Hji "xy Hefr fell™y, culb xb Fi

(A) Draft the Jan Dekpal'Bill/ tu yidiky foe;d
d itz day,

(B) Look into'the corruption charges in the
condu’ct of Commonwealth Games

jevélly [viid Iptyu e HVipij d vijiik di
tip djihdfy,

(C) Look ifito telecom scam/njlpkj MVyk e
tipd fy,

(D) Inquire into phone-tapping amid a
corporate lobbyist scandal/dkikjV yifcLV
%vky d chp iduvfix dh tip d fy,

The office of Lokpal and Lokayukta in India

is based on which one of the following?

Hijr d yidiky Vij yidk;Dr di in futufyf[ir e 1

wi/ifjr girk g?

(A) Parliamentary Commissioner of UK/fcVu
d LInh; vi;Dr ij

(B) Ombudsman in Scandinavia/LdfMufo;k e
yidily ij

(C) Procurator General of Russia/- 1 d
iD;jVj tujy ij

(D) Council of State in France
il e jiT; ifi'n ij

Who is the head of Municipal Corporation?

uxj fuxe dk ve;{k diugirk g\

(A) Prime Minister/ iélkue=

(B) Sarpanch/ljip

(C) Governor/jiT; Iky

(D) Mayor/egkikj

Rotational axis of which of the following

planet is highly tilted?

futufyf[ir e 1 fdl xg dk %.lu v{ ViR;fekd >dk

gvk g\

(A) Earth/iFoh

(C) Neptune/0:.k

(B) Uranus/V: .k
(D) Jupiter/cgLifr
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ANUSHKA ACADEMY

47.

48.

Socialism refer to-

leftoin 1 ridi; g&

(A) State-controlled economy/jiT; fu;=k.k
VFI0; oLFk

(B) Liquidation of the bourgeoisie/ ithifr ox
o) ifjlekiu

(C) Removal of peasantry from adminis-

tration/1"ilu 1 fdluk dk gViuk
(D) Establishment of military dictatorship/

1U; riucikgh dh LFkiuk
How much is the difference of time between
any two Consecutive longitudes?
fdIh nk fujrj n*rjk o) chp le; dk vrj fdrui girk g\
(A) 10 min/10 feuV (B) 14 min/14 feuV
(C) 4 min/4 fewW (D) 5:30 min/5:30 feuV

49.

50.

Mass of an object is a

,d olr dkn0;elu ,dg__

(A) Physical Quantity /Hikfrd ek

(B) Fundamental Quantity/elfyd el

(C) Scalar QuantituygMkatk el

(D) All options are éorrect/ I fodYi Igh g
Which Chief Minister®has launched
Shaheed Gram VikasYojana to provide
houses to frgedom fighters?

fdl e[; el uear=rifluifu;k dk ediu nu of fy,
M*ighn xiesfodkl, ;KU di ikjHk fd 3k g\

(A) N. Ghandrababu Naidu/,U-pncic uk;M
(B) Pema Khandu/iel [M

(C) Raghtibar Das/j%0j nkl

(@) Shivraj Singh Chouhan/f'lojit flg plgiu
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ANUSHKA ACADEMY

Part-111 : Quanéitative Aptitude
Hkx &1 : ekkfed VfHk{kerk

51. Find the value of 9091 x 10109? ,d 0;kikjh ¥8100 e 900 fdxk- Velvj [kjinrk gA
9091 x 10109 dk elu Kir dift,\ iffogu e 10% VelVj [iic g Tir'gh 20% di yik
(/é) g?ggggig (g) gigi?;ll; vitr dju o) fy,] ml WIWelvj fdl nj ij cpu
€ (D) pifg, \
52. Acando %th of a job in 4 days and B can do (A)) 39 (B)) ¥13
(C) %10 (D) T 12
half of the job in 8 days. If they work on it | 57. Vikas has to secure/35% marks to pass in
together, then in how many days can they a subject®If%he gets 152 and fails by 23
finish half of the job? marks.MWhat is the maximum marks of the
1 ) subject? ‘
AfdlIh die dk ZOk Hix 4 fu e rFk B mih dk wiek fodi=eli,,d fo'k; e mlio.k giu o fy, 35% vd
Hix 8 fiu e ijk dj Idri gt ;o ,d I feydj VItr dji gh in m' 152 Vd _k'r gr g Vij 23
dk: djr g] rt o fdru fauk e viek dk; dj Idr g\ vdi 1 velily gt tirk g] i fo'l; e viedre vd
(A) 8 days/fu (B) 9 days/fu f‘ir” g(;o o 5o
(C) 7days/fu (D) 4days/fu EC)) 550 ED)) 400
53. im:;l'the arfa of agri'uc)lmbus(,i g;h(f lingths of 584 3 number whose average is 116, the first
its diagonals are m an m?
e 8 1
.d leprit di {iily Kir dift,] ;fn mlof fod.lk number is < th the sum of other two. Find
dh ycib 34 MIh efVj rAk 38 M1 efvj g\ he £ 3 .
the first number?
(A) 1292 dm?/M-ef* (B) 680 dm?2/M-el? ) )
©) 646 dm/Me (D) 684 drm?/lher riu I[;H, ftudh vilr 116 g] mue igyh I[;k o
54. If a shopkeeper sells an item at ¥4800%hich 1 - .
is marked as ¥8000, then find the suceessive elu VU i I[ i di Ok Hix t) Igyh I[’k
discount that he is offering? Kir dhft,\
;fn ,d ndiunij ,d oLr dk 24800€ cprk g feldk (A) 85 (B) 80
vidr eY; 28000 g] ri mbol Hjknt Xb offed NV (C) 87 (D) 88
Kir dhft,\ 59. A spaceship travels at 1260 km/hr. Find the
(A) 20% and 25%/20%,V*25% ) 1
(B) 16% and 30%;16% Vij 30% distance travelled by it in 7th of a second?
(C) 15% and 30%/ 15%*Vj 30% ,d vrfj{k sku 1260 fdef- ifr AV dh xfr 1 ;i
(D) 20% angd«30%./20% Vij 30% djri gh mlo) Jjk ,d ToM o) 70 Hix e r; dh xb
55. The flight fane between two cities is njh Kir dift,\
increasedyin the“ratio 11 : 15. Find the
increase in the fare, if the original fare was (A) 60 m/el (B) 45mj/el
7187007 (C) 50 m/ ek (D) 90 m/ ek
Nk *Igjt of chp i it fdlji;k 11 : 15 o wuilr e | - ;fnghgrzmyoej’r“agecceézggoi;;hlenf;;‘t’foinj
c<k fn;k x_;k g ;fn ey fdjk;k 218700 Fi] rk fdjk, certain principle is 72250 and 2430
e gb c<irjh Kir dife,\ respectively, the rate of interest is-
E/é)) ggéggo Eg)) ;?Zggo ;fn L d fuf"pr eyéu ij po Qof¥ C;kt Mk nlj rFk
56. A trader buys 900 kilograms of tomatoes for ) O i I:j? . O% i ofe"l ?2250 Vij 32430
¥8100.10% tomatoes are damaged in g ri G5t g
transportation. To make a profit of 20%, what (A) 7% B) 8%
will be the rate of tomatoes? (C) 9% (D) 10%
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61. Ifa+ b= 8 and ab =-20, then the value of [ g9, APQRis right angled at Q. If /R = 60°, then

a + b is-
;i1 a+ b=8Vij ab=-20] i &+ bdli elu Kir the value of (LJSCC b
dift,\ V2
(A) 992 (B) 1036 APQR, Q 1j ledik gh ;fA, ~«R= 60° g] ri
(C) 1024 (D) 1008
62. The sum of a number and 6 times its 2 p di elu @
reciprocal is 7. Find the number? J2 )S€€ e g
d I[;k rRkmlo] 0;Role o) 6 x.k dk ;kx 7 gh B[ ;K
Kir dift,\ 2 1
’ A B
A) 4 B) 5 W 75 ®, T6
(€) 6 (D) 7 ] 9
63. The 3 and 8™ the term of an arithmetic ©) —= D) —=
progression are —13 and 2 respectively. V3 J6
What is the 24" term? 70. If sec 8 =37/15, then the value of siné is-

Lelrj 3.4 di rilji vij viBot in ol —13 Vij 2

gh 24 ok in fdruk gh ;fn see0 = 17/15, g rk sino dk elu g&

(A) 53 B) 47 15 8
(C) 50 (D) 56 W 3 B 17

64. What is the reflection of the point (4, -5) in 8 17
the line y = -2? (©) 15 D) 15
JjIk y=-2e fcin (4, -5) dk ifrfcc D;k g

71./ Find the angle of elevation of the sun, when
the length of the shadow of a tree is equal
to the height of the tree.

I; dk mUU'u dkk Kir dift,] tc ofk dh Ni;k dh

@A) 4 1) (B) (4,-1)
©€) (4 1) (D) (=4,-1)

65. In what ratio does the point C(x,0) divide
the segment joining the points A(5,1)jand

B(-1,-2)? yEct] ofk dh mjpib o) Betu g\
fcln C(x,0), fcn A(5,1) vij fcn (-1, -2) dk tiMu (A) 45° (B) 30°
oty jIk[M dk fdl vuikr e foHkftrad]riegh (C) 90° (D) 60°
A) 2:1 B) 1:2 Directions (72 — 75): The bar graph GDP for the
(C) 3:1 D) 2:3 year 2016 in billion USD of six countries (A, B,
66. At what point does the line 3%# 2y = 12 cuts | C» Ds E, F) of a regional trade block. Study the
the Y-axis? diagram and answer the following questions.
JIk 3x+2y=12fdl fcln ijev-wk dk divrt g\ | fun'k (72 & 75): ckj xkil 0' 2016 e ,d {k; 0;kolkf;d
(A) (0,6) (B) (0, -6) Cykd o) N n*k (A, B, C, D, E, F) dk Idy %jy mikn
(©) (6,0) (DING6, 0) (vjc vefjdh Meyj €) nkrk gh bl Vj[k dk vé; ;u

67. The areas of two similar triangles AABC and dj Vij fuEufyf[kr ik dk mUkj ni

AXYZ are 121 cm? and"64 cm? respectively.
If XY = 18cm, _then the length of AB is-

nk le:zi fHHt AABC rik AXYZ dk {I4ily ofe"| 120+
1211el? Rk 64 letgh ;fn Xy=18lel- g] rkAB | = 100+ 100
dh yEchh g& < 90
(A) 24.75cm/lel  (B) 16.25 cm/leh i ’az 80 70
(C) 22.5cm/lel (D) 25.25 cm/leh 22 o -
68. Find the value of tan 60° + cosec 60°? a § 50
tan 60° + cosec 60° dk elu Kir dhft,\ E T 40 %0
@ 3 (B) NE] § i |_|
2 A B C D E F
C) ﬁ (D) 5 Country/n’k
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ANUSHKA ACADEMY

72.

73.

74.

Which country is the third biggest in terms
of Gross Domestic Product (GDP)?

Idy %jy mkikn o) Icek e diu&lk n"k rillj LFiu ij

Icl cM g\
(A) A (B) C
(C) E (D) F

By what percent is the Gross Domestic
Product (GDP) of Country A lesser than that
of Country F?

nk A dk Idy %jy miin] n*k F I fdruk ifr'kr de g\
(A) 20% (B) 50%

(C) 25% (D) 40%

What is the ratio of Gross Domestic Product
(GDP) of Country E to Total of GDPs of

countries A, C and F taken together?

75.

nkEdin' A, cvij Fojoly Idy %y miikn |

vuikr Dk g\
(A) 3:5 B) 5:3
(C) 9:5 D) 35:9

If the combined GDPsofsthe six countries
has grown by 50% if'the last decade, then
what was their combined annual Gross
Domestic Product®(in billion USD) before
10 years?

;in fiNy n*ld e'Ng.nk o) 1;Dr %jy mkiin e 50%
dh of% gb gl rih10 o% igy mudk 1;Dr olfid
Idy %y mukns(vjc vefjdh Myj) fdruk Fi\
(A) W40 (B) 180

(€) 240 (D) 200
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ANUSHKA ACADEMY

Part - IV (English Language)

Direction: Rearrange the parts of the sentence
in correct order.

76. It ignores the real victim,
P. of getting justice
Q. often compelling him/her

R. to find extralegal methods

(A) RQP (B) RPQ

(€) PRQ (D) QRP
77. The fundamental cause of

P. modern world the stupid are cocksure

Q. the trouble is that in the

R. while the intelligent are full of doubt

(A) RPQ (B) QRP

(C) QPR (D) PRQ
Direction: In the following question, out of the
four alternatives, select the alternative which
best expresses the meaning of the idiom/
phrase.
78. Cock and bull story

(A) an implausible story used as an excuse

(B) a story which sounds unbelievable but

it is true

(C) a story with a predictable ending

(D) a very boring narrative
79. to come hell or high wates

(A) to easily lose motivation

(B) whatever difficulti€s mayyoccur

(C) to accomplish a very*difficult task

(D) wanting revenge Wery badly
Direction: Improve the bracketed part of the
sentence.
80. Your son (will) have looked smart is a kurta.

(A) shall (B)=can

(C) would (D) no improvement
81. Viren playsshockey and football (too).

(A) both (B) also

(C) even (D) no improvement

Direction: In the following question, some part
of the sentence may have errors. Find out
which part of the sentence has an error and
select the appropriate option. If a sentence is
free from error, select "No Error".
82. His reputation for (A)/being rough on (B)/
students was well earned. (C)/No error (D)
(A) A (B) B
() C (D) D

83. Tom Sawyer is one (A)/of the best kid
stories (B)/that was“ever written. (C)/No

error(D)
(A) A (B) B
(€) C (DD

Direction: In the following question, a
sentence has been(givén in Direct/Indirect
speech. Out ofthe four alternatives suggested,
select the one, which best express the same
sentence in Indirect/Direct speech.
84. Sitamssaid to her mother, "Do you always get
up early?"
(A) Sita asked her mother that, whether
she always got up early.
(B) Sita asked her mother that, whether
she has been always getting up early.
(C) Sita asked her mother that, if she has
been always getting up early.
(D) Sita asked her mother if she always got
up early.
Direction: In the following question, a
sentence has been given in Active/Passive
voice. Out of four alternatives suggested,
select the one, which best expresses the same
sentence in Passive/Active voice.
85. The investigation team viewed the CCTV
video clip.
(A) The CCTV video clip is being viewed by
the investigation team.
(B) The CCTV video clip was being viewed
by the investigation team.
(C) The CCTV video clip had been viewed
by the investigation team.
(D) The CCTV video clip was viewed by the
investigation team.
86. Select the antonym of subdued
(A) dim
(C) solemn

(B) boisterous
(D) crestfallen
87. Select the antonym of revel
(A) gloom (B) spree
(C) bacchanal (D) debauch
88. Select the synonym of tryst

(A) severance
(C) annul

(B) rendezvous
(D) disparate
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89. Select the synonym of to scar
(A) to maim (B) to bedeck
(C) toadorn (D) to embellish

90. Select the word with the correct spelling.
(B) literatie
(D) wrethed
91. Select the word with the correct spelling.

(A) montereal

(C) residuum

(A) purlius (B) solemenly

(C) recesed (D) heirloom
Direction: In the following question, sentence
given with blank is to be filled in with an
appropriate word. Select the correct alternative
out of the four and indicate it by selecting the
appropriate option.

92. With our ___ incomes, my wife and I can
usually afford two vacations a year.
(A) modest (B) simple
(C) timid (D) discreet

93. The teacher accused Jeetu of __ because
she knew he could never write such an
exceptional paper.

(A) borrowing (B) plagiarism
(C) piracy (D) theft

Direction: In the following question, out of.the

four alternatives, select the alternatiyve which

is the best substitute of the phrase.

94. to divide by cutting or slicing,%especially
suddenly and forcibly.

(A) to detach  (B) to bisect
(C) to sever (D) to dissect

95. To cut the wool off a sheep or other animal.
(A) to mow (B) to prune
(C) to pare (D) to shear
Direction (96-100): In the following passage,
some of the words have been left out. Read
the passage carefully and select the correct
answer for the given blank"out of the four
alternatives.

History rarely produces moments ___ epiphany,
where politics appe€arSmas)a creative act of
redemption and thé future becomes a collective
act of healing. __{society carries its wounds like
a burden, a ___ feminder that justice works
fragmentarily gSuddenly out of the crassness, the

__ofeveryday politics, a moment to treasure.
96. History wargly produces moments___
epiphany,
(A) for (B) of
(C) with (D) about
97, ___ society carries its wounds like a burden
(A)Each (B) One
(C) All (D) A
98 a ___ reminder that justice works
fragmentarily.
(A) infinite (B) pleasant

(C) long (D) perpetual
99. the __ of everyday politics

(A) crudity (B) delicacy

(C) beauty (D) wonder
100. _ a moment to treasure.

(A) came (B) went

(C) comes (D) goes
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